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Math Year 2 

Term3 Week 3 pack 
 

Name: ________________ 
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a)   Solve the following problems: 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

92 – 10 =  

38 + 51 =  52 – 12 =  

47 + 22 =  

25 ÷ 5 =  

30 ÷ 5 =  

85 - 32 =  

18 ÷ 2 =  

25 ÷ 5 =  

70 ÷ 10 =  

9 × 5 =  55 + 6 =  

46 + 12 =  4 × 10 =  

9 × 5 =  

2 × 3 =  

79 + 18 =  

68 - 18 =  

56 - 25 =  

68 - 46 =  16 + 13 =  

5 

5

31 5 45 97 

7 40 50 58 

53 45 61 

29 9 32 

6 39 67 6
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b) Look at the following graph and solve 

the questions:  

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

bananas 

6 

2  or  6 
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c)  

5 × 2 = 10  or  2 × 5 = 10 

5 × 3 = 15  or  3 × 5 = 15 2 × 2 = 4  or  2 × 2 = 4 5 × 6 = 30  or  6 × 5 = 30 

5 × 3 = 15  or  3 × 5 = 15 
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d) 

    15 ÷ 3 = 5 

 

    20 ÷ 5 = 4     20 ÷ 2 = 10 

    10 ÷ 5 = 2      8 ÷ 2 = 4 

    12 ÷ 2 = 6 
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e) Solve the following addition and subtraction 

columns equations: 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

f) Answer the following: 

 ½ of 10 =  

 ½ of 22 = 

 

 

 ¼ of 12 =  

 ¼ of  8 =  

 

11 
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17 

8 

8 8 9 

9 5 

5 

8 

8 9 

9 8 17 

15 – 7 =  8 

8 + 7 = 15 

15 – 8 = 7 

7 + 8 = 15 

15 

 8 7 
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11 15  4 

11 

11 

11  4 

 4 

 4 

15 

15 

15 

13 18   5 

18  5 13 

13 

13 18 

18  5 

 5 

20  4 16 

16 

16 

16 

 4 

 4 

 4 20 

20 

20 

 13  7   6 

  6 

  6 

  6 

 7 

 7 

 7 

 13 

 13 

 13 



 
 
  
 

9 
 

Find the inverse calculation to check each calculation: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

+     23 +     42 

         55 

       97 

         25 

         78           33 

+     32 +     11 

         89 
          65 

  4       8 

  5      5 

  4      2 

  9      7 

  2       5 

  2       3 

  6       5 

  7       8 

  1       1 

  8      9 

  3       3 

  3      2 


